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A box contains 2.6 kg of washing powder.

washing
powder

2.6kg

Jack uses 65 grams of powder for each wash.
He uses all the powder.

How many washes did Jack do?

your
method
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Jacob cuts 4 metres of ribbon into three pieces.
The length of the first piece is 1.28 metres.
The length of the second piece is 1.65 metres.

Work out the length of the third piece.

Show

your
method
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A packet contains 1.5 kg of oats.

Every day Maria uses 50 g of oats to make porridge.

How many days does the packet of oats last?
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One gram of gold costs £32.94

What is the cost of half a kilogram of gold?
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Here are four masses.

1
2 1 800 3
kilograms tonne grams kilogram

Write the masses in order, starting with the lightest.

.

lightest
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Chen and Megan each have a parcel.
. N 1
Chen'’s parcel weighs 1 3 kg.

Megan'’s parcel weighs 1.2 kg

How many more grams does Chen'’s parcel weigh than Megan'’s parcel?
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Joe places some apples on a weighing scale.

The pointer shows the mass of the apples.

He takes away one apple.
The mass goes down by 120 grams.

Draw the pointer in its new position on the scale below.
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This scale shows how much Chen weighs.

How much does Chen weigh?
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There are 28 pupils in a class.

The teacher has 8 litres of orange juice.

She pours 225 millilitres of orange juice for every pupil.

How much orange juice is left over?
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Chen is cooking some pasta.

N Y
The recipe says he needs 350 grams of pasta for
4 people.

How many kilograms of pasta does he need for 12 people?





